A2 T HY=H HAx | 44 HACH & ol HEEA HAZH(H) o
2020.04.01 | X|<0f=Ql ZtE 2| | CHEO[AF | ALY |X[Y0&=¢2l 2 3 C| QF77b| 16,000
2020.05.13 | X|G0f|=Ql ZtEa| | CHEO[AL | AT |X[Ho=Ql 2 4 C| b7t 20,000
2020.05.19 | 3 AKX ZHEFD| | CHEO|AL [ AlCH | SHEZAXt € 4 o|0|FkAl 60,000 | FEH&
2020.06.10 | X|G0f|=Ql ZtEa| | CHEO[AL [ AT |X[Ho=Ql 2 3 ZEol2tC| 2 33,000
2020.06.19 | S A XL 7HE2| | CHEO[AL| AlD{ | SHEA X 2 2 Ao Hm=30| 10,500
2020.07.09 | 3 AKX} 7HEZ| | CHEOIAL| AlD§ |SHZAXE 2 10 oj|H| == 224,500
2020.07.28 | S A XL 7HE2| | CHEO[AL| AlC{ |SHEAX 2 3 |d=sFHmo ol 25,200
2020.07.30 | X|<¥ Of&Ql 7+E S| | CHEO[AL [ AT |X[Hoj=2l 2 2 |g=st7 oKt o|Hz 8,550
2020.07.30 | X|¥ Of & Q! 7+E3| | CHEO[AL | AT |X[Hoj&Ql 2 5 ZEol2tE| 2 46,000
2020.07.31 | X[<F o =2l 7tE3| | CHEO[AL| Alf |X[Dof=2l 2 4 |HEs7{moit| o]z 41,220
2020.08.05 | S A XL 7HE2| | CHEO[AL| AlC{ |SHEAXE 2 2 |d=sFH I 0|z 10,200
2020.08.06 | X[ AKX} 7HE| | CHEO|AL | AlCH |KtOHAS AR | 12 =R 300,000
2020.08.25 | K| AKX ZHE2 | 22% | A |X[G2AX 4 SHAE 92,000
2020.08.25 | X[ A X} 7HER| | 22F | Ao |[XG2AX} 3 SN A 49,000
2020.08.27 | Al BARX} ZHE D =23 | A (AZAKX 2| 4 =% 78,000

Z=H(1524) 1,014,170




